PRIMARY 3

END-OF-YEAR MATHEMATICS REVIEW 1
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Secﬁ;:m A : Mulliple Cholce Questions

Questions 1 to 10 carry 1 mark each.

For each question, four oplions are given. One of them is the comect answer.
Make your choice (1, 2, 3 or 4).

Shade the comect oval {1, 2, 3 or 4) on the Oplical Answer Sheet. {10 marks)

1. The volue of the digit 9in 5920is

vy 9
2 90
3) 900
(4 9000

2. What is the difference between 9733 and 250 ?

{1) 9483
{2) 9523
{3} 9583
{4) 9983
3. Which of the following does not have the same value as ?12- ?

{1
(2)
(3}

{4)

Slon Bl @i




Which of the following fractions is the greatest?

{4}

The time now is 3.20 p.m. What fime was it 25 minutes ago?

(1
{2)
{3)
{4}

r-l\, nitn: bW W

(%)

2.20 p.m.
2.55 p.m.
3.25 p.m.
3.45 p.m.
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é. Study the lines below carefully. Which fine is‘parailel to XY?
S. , W Y
T Q
R
v X P U
(nn  PQ
2) RS
(3 UT
[4) VW
7. What is the mass of the bag of rice?

(1)

2) 260g
{3} 2300g
(4) 2400 g




8. The ﬂgure'below is made vp of arectangle and a 1riong!'e.
Find the perimeter of the figure.

10cm
7em 7ecm
10 em
(1) 34cm
(2) 43 cm
(3) 50 cm
(4} 57 cm
Q. The figure below is made up of 7 identical squares
the figure.
Scm
4—>

nm 175 cm2
{2) 140 cm?
(3} 25 cm?

(4)

_80 cm?

. Find the area of
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10.

The graph shows the numbér of watermelons a fruit seller sold ai a
funfair.

Fruit Selier A

raseers | ()
Fruit Seller B @
®
)

Fruit Seller C

Fruit Seller D

Sie
ee s

Each @ stands for 4 watermelons.

Fruits Sellers B, C and D sold watermelons allogether.

(1} 56
{2} 48
{3} 14
{4} 12
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Seciion B : Short Answer Questions

Questions 11 o 20 carry 1 mark each. Write your answers in the boxes _
provided. For questions which require unifs, give your answers in the unils

siated. {10 marks}

1. ‘What is the missing number in the box?

28 5 2
+ 460 1

8§ 9 2 3

12. Mr Wong bought two shirs.
He gave the cashier $140 and received }3.40 as change.
Which iwo shirts did he buy?

and

BP~708



13,

3. '
Mark wanis to shade " of the figure below. How many more squares

must be shaded?

.

14.  Edwin studied from 3.10 p.m. to 4.55 p.m. How long did he study?

h min

15.

Is the angle below greater or smaller than a right angle?

than a right angle

BP-709



BP-710

Express your answer in the simplest form.

17. 4 similor cylinders are placed on the balance scale below.
What is the mass of one cylinder?

18. How many faces does a cube have?

faces I




19.

20.

L aia

Study the graph carelully and answer qusstions 19 and 20.

Fandi, Sundram and David ran a total of 20 rounds around a running

track. Sundram ran the greatest number of rounds.

Complete the picture graph by filling in the names, Sundrem and

Fundi.

David

Each ﬁstands for 2 rounds.

How many fewer rounbs did David complete than Sundram?

rounds

End of Paper
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ANSWER KEY
LEVEL : PRIMARY 3
SCHOOL : TAD NAN SCHOOL
SUBJECT :
Ql 3 Q2 1 Q3 1 Q4 3 Q5 2
a6 4 Q7 4 © Q8 2 Q9 1 Q10 |2
Q11 | 8923-2852=6071 Qi2 | 140-3.40=136.60
The missing number In the box is 7. 64.25+72.35=136.60
He bought shirts A
and B.C
iz [3.9 Q14 | He studied for 1h
4 12 : 45 min.
6 more squares must be shaded.
Q15 | This angle is greater thanaright angle. | Q16 |2.8
35 s
10 10 10
=t
2
Q17 | 4cylinders=720 Q18 | Acube has 6 faces
1 cylinder=72034
=180
The mass of one cylinder is 180g
Qi1s Q20 | 12-2=10
David completed 10
fewer rounds than
Sundram.

v

| Sundarn | Fand; David

Each gsﬁandsforzromds.
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